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[A]

T -1/ PART -1
91« {9 9 fRrenems / CHILD DEVELOPMENT AND PEDAGOGY

3T : Rt g7 % a7 7 & [ qag ST [Awey g

Direction : Answer the following questions by selecting the most appropriate option.

1. F=fofeg § § S9-a1 dFeEs a|
g dem & gqE 7@ e ?

(1) =™ H +E|
(2) 99 & FEH
(3) deaXar @ fEH
(4) FHEFRHTT 1 |

2. ‘oA gRE U= H gEvYH fHEA
g fa 7
(1) %% wd b
(2) BT T G
(3) S Td i
(4) R @ TR

3. frfefag & & @9-w1 Surm TR
ST IIAh B FAEN Bl AT BT
STl HARFM Al & g BROT &
MY & SO X e © ?

(1) FAIAINHE SURTH
(2) FEERAE SUH
(3) JafRTH FPRAHD IUTH
(4) 9ETH UM
4. ‘YA AFW TIET B GEuEH e
ORfed a7
(1) %H¢ s
(2) 3o THo IHEEH
(3) TegS I A
(4) UEdE

Level-2/8103

1.

Which of the following is not the
main law of learning as prescribed
by Thorndike ?

(1) Law of Exercise

(2) Law of Effect

(3) Law of Readiness

(4) Law of Generalization

Who first introduced the word

'Emotional Intelligence' ?
(1) Fredrick and Kirk
(2) Henry and Peter

(3) John and Cronback
(4) Mayer and Salovey

Which of the following approach is
based on analysing the behaviour of
disabled child and find out the root
cause of his/her learning deficiency ?
(1) Psychoanalytic approach

(2) Behavioural approach

(3) Individualized

approach

instructional

(4) Multisensory approach

Who first introduced the concept of
"Latent Learning" ?

(1) Kurt Lewin

(2) E. L. Thorndike

(3) Edward Chace Tolman
(4) Pavlov

P.T.O.



[A]

‘TR & g add b o 7

(1) fafee™ =1
(2) Sto o arzE
(3) T &

(4) weas e

frefefeg & @ @9-@ e
RERE T AR ' ?

(1) &Rt
(2) q@
(3) T
(4) drcEes

gF d KK ¥ BN g qf®
URaa, foeE @ dF-G ofawen #
@ 1 g9 & o ¥ ?

(1) qd srearere

(2) 999 fpamae

(3) TEEHEET

(4) aq:dY BT

FAMHRA I B FF TH A
g7

(1) ‘TH Y N STIsE

(2) ‘ST b Al AT

(3) ‘TE-AN TR A ST

(4) ‘T THR F AT

“ReMBEar M eNar’ SEeT @
?H?W%aﬁ?—wa@ww
(1) 69 11a9

(2) 12820 a9

(3) 386Ty

(4) 189® §3TY

Level-2/8103

[4]

. Who was the main propounder of

'functionalism' ?

(1) William James
(2) J. B. Watson
(3) Clark Hull

(4) Edward Tolman

. Which of the following is example

of Innate Motive ?
(1) Award

(2) Hunger

(3) Punishment
(4) Incentives

In which stage of development, the
sexual changes that occur in the
child's body starts to appear ?

(1) Early childhood
(2) Later Adolescence
(3) Adulthood

(4) Puberty

. What is the other name of classical

conditioning ?

(1) Type S conditioning
(2) Type R conditioning
(3) Type S-R conditioning
(4) Type U conditioning

. What is age group given by Erikson

for  the
inferiority" ?
(1) 6to 11 years

(2) 12 to 20 years

(3) 3to 6 years

(4) 18 months to 3 years

stage  "industry  vs



10

11.

12.

13.

. fefateq & @ dM-ar faem @
a2 forea 78 ?
(1) |iad # e
(2) Jafr = & Rsr
(3) Vet 1 UHEwar @ s

(4) [Aldse 9 9MMg SfBRATe @
FaEl H s

frfafag & § d9-a ‘TN @
e (ER) ‘«e a9k 3
T | ST S 7

(1) HaERAR

(2) GEAEE

(3) YA

(4) TETeEaR

fr=fofeg & @ ®9-91 =8 gNRa®
W H T F& & 7

(1) T9EeE JRgar
(2) HaTeTR qiRGeREar
(3) STHIGga™

(4) rgesiiaa

dod WG YR e T @l
a1 e e SR w7

(D8 ¥ 12 a9 3 YH® AT ard
it & foe

2)4 ¥ 8 g¥ % MM AV d
it & foe

(3) 12 ¥ 15 ¥ % 9NiES QAT a
it & foe

42 9 4 g4 % gAS AT
it & foe

Level-2/8103

[5]

10.

11.

12.

13.

[A]

Out of the following which is not
correct principle of 'Development' ?

(1) Principle of continuity
(2) Principle of individual difference
(3) Principle of uniformity of pattern

(4) Principle of proceeding from
specific to general responses

Which of the 'thoughts of school' in
Psychology is also called as 'Black
box theory' ?

(1) Behaviourism
(2) Structuralism
(3) Functionalism
(4) Gestaltism

Which of the following is not the
characteristic of Good Mental
Health ?

(1) Ability to adjust
(2) Emotional Maturity
(3) Self-confidence

(4) Intolerance

Scale I in Cattell Culture Free
Intelligence Test was prepared for
whom ?

(1) For 8 to 12 years
deficient person

mental

(2) For 4 to 8 years mental deficient
person

(3) For 12 to 15 years
deficient person

mental

(4) For 2 to 4 years mental deficient
person

P.T.O.



[A]

14.

15.

16.

17.

fr=ifofeg & @ fN-a1 ‘s @l
ik & fow @& afehes A B 7

(1) e > Wl - RUE —
ROIRE]

(2) Tl — ofdfe —» WMus —
A1

(3) T — TRUE — W —
[SINR

4) T - ofaefe > FEE —
TRYTR

Freffad & & @i9-a1 T Bhar-ugd
T & et 7&f R ?

(1) sgfie

(2) el

(3) @q: g

(4) face=

d S W AN TR & SIRM
TaEell @ Ifd wd B, 9% fou
‘IfFT oreT’ ST TR gAY
frem o ?

(1) zaé

(2) e s

(3) a9 Rw

4) T

frefofeg & @ $9-91 F=AsNS
“eqT & foeie & &9 ° Heifasm”
foramamT & g9l TR ?

(1) <

(2) IE
(3) SHC

4 g

£

Level-2/8103

[6]

14.

15.

16.

17.

Which of the following is the correct
logical order for 'process of creativity' ?

(1) Insight —  Preparation —
Incubation — Verification

(2) Preparation — Insight —
Incubation — Verification

(3) Preparation — Incubation —
Insight — Verification

(4) Preparation — Insight —
Verification — Incubation

Which of the following terms is not
related with the operant conditioning ?

(1) Insight

(2) Reinforcement

(3) Spontaneous Recovery
(4) Extinction

Who introduces 'Learning Disable’
word very first for the children
suffered from various learning
problems ?

(1) Heward

(2) Samuel Kirk
(3) Van Riper
(4) Birch

Which of the following Psychologist
1S not supporter of views about
"Psychology as a Science of Soul" ?

(1) Plato

(2) Aristotle
(3) Descartes
(4) Wundt



18.

19.

20.

21.

TR @ hiA-dl SmEr § e,
gﬂﬁwaﬁasﬁamawwﬁmw

(1)%%25@1%31?
(2) eI AR
(3) Sciift~ag FHIfE
(4) faeprares ARfsT

(1) 092 a9

(2) 29 6TY

(3) 6911 ad

4) 1131598

frfafag & 9 @F-a1 Tfese 3 =g

& R, |, A, JEietr 3
T ST BT © 7

(1) AFEAEE! Fs
(2) HSHIHE FRITT
(3) M HAIS
(4) ST TRIaEH

frefofag & § #9-@ aka @&
YK e &N 78 far T B ?

(1) geraa™

(2) HATHD
(3) qIHT
(4) TMAE=

Level-2/8103

[7]

18.

19.

20.

21.

[A]

In which branch of Psychology there
is a scope of study of Telepathy,
Rebirth etc. ?

(1) Physiological Psychology

(2) Clinical Psychology

(3) Parapsychology

(4) Developmental Psychology
According to Jean Piaget in which
stage child is able to understand
Hypothesis and getting thinking

ability on the basis of logical
statement ?

(1) Oto 2 years

(2) 2to 6 years

(3) 6to 11 years

(4) 11 to 15 years

Which of the following Psychology

studies about man's thinking,
memory, language, perception etc. ?

(1) Humanist Psychology

(2) Cognitive Psychology

(3) Abnormal Psychology

(4) Clinical Psychology

Which of the following is not the

type of personality given by
Kretschmer ?

(1) Athletic
(2) Aesthetic
(3) Asthenic
(4) Pyknic

P.T.O.



[A]

22

23.

24,

25.

26.

S fEe & ogaR e fawe
HE ‘WA FA” B A

9 8 7
(1) 0F5ay
(2) 13918 a9
(3) 588y
(4) 11913 a9

freifoifeg & & ®F-a1 oM orem
SIcThl T 0T &' ?

(1) JIefBIeT geriear

(2) Hiafes stfear

(3) IrHaRYT HaU™

(4) STafEr

TR A Hedl ard deihl Al s
qfeer ar Bt B 7
(1) 509 60

(3) 209 35

(2) 36951
4) 209 9=

e @ d9-H oERn ¥ wHM
?’ﬁr&ﬁ%ws&r/ﬁwﬁzﬁmﬁaﬁ
(1) 1289 14 99
(2) 15918 a9
(3) 109 12 a9
(4) 198921 a9

frefefeg & @ @9-ar g
foe @1 g FE R ?

(1) FE o
(2) g e
(3) TS v

(4) @AM foma

Level-2/8103

[8]

22,

23.

24,

25.

26.

What is the age group for the moral
development stage "Heteronomy
Reciprocity" given by Jean Piaget ?
(1) Oto 5 years

(2) 13 to 18 years

(3) 5to 8 years

(4) 11 to 13 years

Which of the following is not the
characteristic of Learning Disabled
Children ?

(1) Perceptual effectiveness
(2) Emotional instability
(3) Disorder of attention
(4) Impulsivity

What is the [.Q. Range of severe
mental retarded child ?

(1) 50t060  (2) 36to 51
(3) 20t035  (4) below 20

In which stage of development,
interest/friendship develops towards
same sexual groups ?

(1) 12to 14 years
(2) 15to 18 years
(3) 10to 12 years
(4) 19to 21 years

Which of the following is not the
type of Realistic thinking ?

(1) Convergent thinking
(2) Creative thinking
(3) Evaluative thinking
(4) Autistic thinking



27.

28.

29.

30.

frfofeg & @ $9-A1 FEREND
;Haﬁﬁﬁqﬁﬁaﬁ’aﬁrwézﬁﬂﬁ
?

(1) %S
(2) A&l
(3) ot
(4) TR HiE

‘G $ Jads HE o 7

(1) fafemm s
(2) fafeaw o
(3) faeew goe
(4) fowH gve

fr=ifoifeg & @ d9-a1 a@ STRERen
o’ O Gefeg 7R ?

(1) STasFdl

(2) TR

(3) ®am

(4) dreEred

‘I H HAT fHE g UG @ ST
g B ?

(1) sicreBeor

(2) ggn

(3) IR

(4) 9etrad

[9]

27.

28.

29.

30.

[A]

Out of the following which
psychologist was not supporter of
'Humanist Psychology' ?

(1) Freud

(2) Maslow

(3) Rogers

(4) Arthur Combs
Who was the
'structuralism' ?

(1) William James
(2) William West
(3) Wilhelm Wundt
(4) Wilhelm Hunt

propounder  of

Which of the following component
is not related with the 'Motivation
Cycle' ?

(1) Need

(2) Drive

(3) Emotion

(4) Incentive

The 'emotion of fear' associated with
which basic instinct ?

(1) Repulsion

(2) Pugnacity

(3) Appeal

(4) Escape

Level-2/8103

P.T.O.



[A]

AW -1l / PART - I
A7 (5=} wd i) / LANGUAGES (HINDI & ENGLISH)
[ &Y/ HINDI ]
e : =& 7971 % G 37 % [ qaq SfEd ey g
31. %9 a7 | deugEs AT H TAN 35. 77 w9 fawe g -
g ? (1) R B R asi = geas
(1) T ST Al 2 (2) T & A = g
(2) ST TET F A WA B (3) TE & R QT = TS
(3) T TG 4 =W @ (4) T & R qUSY = FwEvey
(4) Hies STTehe SoTET Sadl 2
36. TeTg BRAT 78T ©
32. ‘% W YR UE TE © (1) s
(1) fourgs R
(2) TH (3) g
) Fre= (4) TIferrT
(4) ST
o 37. qUI=ERCT & gfte |} §F7 T
33. ford fomca § Fre gieair o= B 7 0 i o - 2
(1) g @ 7 % - =i
2) fred 3) T, & - ag
(3) WX
@ B 4) 3, g - gt
s 38. o9 faeheq § ‘o1 SUERT &1 YGNT 78T

e R @ e @ gy faeed
gﬁﬂ'\f:

(1) ARt = A1 &% Qi

(2) MR = T (af) & dR

(3) geaem = gfeal & fow o™

(4) Siigear = Sl ) 41

Level-2/8103

gAR 7
(1) sger
(2) e

(3) &I
(4) Sgamte



39.

40.

41,

42,

arifes gfte & ofger a1 T
(1) ferRa=

(2) SASTHIEST

(3) ST

(4) foused

SIRRCREILEARER CICISICICRIC K L

() # % q&& A §, 3¢ qH @
Al

(2) ¥ § B FA B

(3) dad Tl JRrl U F Hebell
Bl

(4) 98 =med & % A Haa o TBN
Y STEi-tRd 1@ g

(1) gy

(2) @

3) @

(4) drsg

fbd s & oM |fg & 5T gem
g7

(1) arfisax

(2) g
(3) STt

(4) goitqHr

[11]

43.

44,

[A]
HiYy foese &1 aftc 9 orgaT T
(1) BT + T = B
2) gft + 3= = gi=
(3) I + T = ol
(4) TF + 39 = I

“TEAT W & [T Ay 817
arR & g R @

(1) ST foba
(2) "gF e
(3) = b

(4) Frardes @

45. 909 W gRC § oFg faehed g

(1) 3T + 3 = &
(2) &Y + b = AT
(3) |IT + el = Faa
(4) = + T =

Level-2/8103

P.T.O.



[A]

46.

47.

48.

[12]
[ S135ft / ENGLISH ]
Direction : Answer the following questions by selecting the most appropriate option.
Choose the part of the sentence 50. Choose the correct tense form :
which is incorrect : _
His newfilm is really worth Nanny died last wegk. She .........
a b o from cancer for some time. (suffer)
to be seen. (1) suffering
d
(1) a @) b (2) is suffering
(3) ¢ “4) d (3) had been suffering
Select the appropriate modal for the (4) suffers
expression given :
When ... we expect you ? 51. Select the appropriate modal for the
(possibility) expression given :
(1) may (2) will If you do that again you ........ be
(3) have to (4) dare punished. (threat)
Select the correct option (phrasal (1) may
verb) for the underlined word : (2) shall
Most of the patients respect Dr. John 3
for his kindness. (3) can
(1) payback  (2) zest for (4) ought
(3) make over  (4) look up to 52. Choose the correct option for the

49.

Choose the correct meaning of the
underlined words :

The baby monkeys ran every which
way.

(1) up
(2) straight
(3) in different directions

(4) down

Level-2/8103

following :

An  instrument for

earthquakes 1s :

detecting

(1) A Fathometer
(2) Lithoscope
(3) A Seismograph

(4) Cardiograph



53.

54.

55.

56.

Choose the correct meaning of the
underlined words :

It's a pity you don’t like football. But
each to their own.

(1) everyone has different opinions
(2) everyone has similar opinions
(3) each and all are same

(4) each one likes football

Choose the correct option to fill the
blank :

Immediately after the operation he
could see nothing vague
shadows.

(1) aslong as

(2) however

(3) but

(4) notwithstanding

Select the correct option (phrasal
verb) for the underlined word :

I don't know how we are going to
cope with the cold during winters.

(1) make up for

(2) put up with

(3) put down

(4) setup

Select appropriate preposition to fill
in the blank :

They walked the footpath
until they came to a bridge.

(1) into

(2) since

(3) along (4) in

[13]

57.

58.

59.

60.

[A]

Choose the correct tense form :

My car ........ for the third time since
I got it. (break down)

(1) break down
(2) has broken down
(3) was broke down

(4) has broken

Choose the part of the sentence
which is incorrect :

James is busy to prepare
a b C
tonight's dinner.
d
(1) a 2) b
3) ¢ 4) d

Choose the correct option to fill the
blank :

The room was empty ....... for a chair
in the corner.

(1) except
(2) and
(3) between

(4) behind

Select appropriate preposition to fill
in the blank :

The programme was broadcasted ......
the world.

(1) in
(3) onto

(2) off
(4) across

Level-2/8103

P.T.O.



[A]

[14]

HET -1/ PART -1l
qH 99 / GENERAL STUDIES

[ A ARG, dliche SARTEHCT Rl | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : Rl 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

qrg &feedl P, Q, R, S &R TH, T, R
AR S & 8ler &1 Q, T oA
T 2, AfT U @ & @1 B R
T AT A Blel 31 T q PN g9
T R 7

(DR

2 Q

3) S

4) P

0 demd 203 : 4 F g | B
gﬁaﬁaﬂqﬁ%%m‘ga‘rﬁwﬁ
(1) 14,21,28

() 12,18, 24

(3) 8,12, 16

4) 4,6,8

A X &R B, Y & A 31 X
MM Z &S89 Y B = & 4

??—WEBWGTHQWW@WW
?

(1) B, Z %! ¥ 2
(2) X, Z%H &7 Bl
(3) B, A% T
@) Y, A® T B

Level-2/8103

61.

62.

63.

Among five persons P, Q, R, S and
T, T is shorter than R and S. Q is not

as tall as T but taller than one

person. R is shorter than one person.
Who among them is the tallest ?

(1) R
2 Q
3) S
4) P
Three numbers are in the ratio 2 : 3 : 4.

The sum of their cubes is 33957,
then the numbers are :

(1) 14,21, 28

(2) 12, 18,24

3) 8,12, 16

4) 4,6,8

A 1s father of X; B is mother of Y.
The sister of X and Z is Y. Which of

the following statement is
necessarily not true ?

(1) B is the mother of Z.
(2) X is the sister of Z.
(3) B is the wife of A.
(4) Y is the son of A.



64.

65.

66.

67.

T AR @ H A 1 R T g,
R g e e § get 5 fl
For & Y a8 q@ Rem § g 2
et a@ar §, SU% 9% J8 Ia} fasm
4 et 9 Pl I ©1 oW @@
yRfe faeg & el QX @81 & 7
(1) 4 fHt

(2) 5 et

(3) 7 it

(4) 9 fpHt

e e | = O L ol s e L

DHL, PTX, BFJ, .....
(1) CGK
(2) KOS
(3) NRV
4) OVZ

12 969 TF ®E H T & F 18
R o B srafe 12 femt oo @t &

%ﬂmzﬁlsﬁ?ﬁgﬁaﬂ‘cﬁ%w@r

Fd H 10 gew o 8 fear wry-wn
P F g Fha R # ot B ?

1

(1) 6 @) 77
1
3) 137 (4) 14
Teh et I oA & A1 8 WX 3Hh
Mg # b ufdera gfs &kl ?
(1) 200% (2) 450%
(3) 550% (4) 700%

Level-2/8103

[15]

64.

65.

66.

67.

[A]

A person walks 1 km towards East
and then he turns to South and walks
Skm. Again he turns to East and
walks 2 km, after this he turns to
North and walks 9 km. Now, how far
is he from his starting point ?

(1) 4 km
(2) Skm
(3) 7km
(4) 9 km
Find the next term of the following
letter series :
DHL, PTX, BFJ,
(1) CGK
(2) KOS
(3) NRV
4) OvVzZ

12 men take 18 days to complete a
job whereas 12 women in 18 days

can complete % part of the same job.

How many days will 10 men and 8
women together take to complete the
same job ?

1

1 2) 7—
(1) 6 2 77

1

3) 135 4) 14

The radius of a sphere is doubled.
What percent of its volume is
increased ?

(1) 200%
(3) 550%

(2) 450%
4) 700%

P.T.O.



[A]

68.

69.

70.

71,

T AR Th aeg &l % 24 § 9=l ©
T qE] & Td B SO TS A9
FAC &, A & B A IA 8 -

(1) %15

2) %17

(3) %18

(4) 320

15 &fFal & T "ge q, 7 B
q

Ted &, 8 SN Ted § X 3 @S
qar & Yed 2 fhaw @ =

AR Sl A Ted € 7
(1) o 2) 3
(3) 4 4 5

a p M ¢ AT dEemd ¥
3+\/§=p+C]\/§, Fﬁpﬂ?ﬂq%

3-45
e 2
M p=2q=3
@ p=tig=2
® p=tia=3
@ p=rig=2

I ush ke i @ 3% ufaay @
W" d A qU H@ THIE AN
3101.50 &, @ SH WA B A
g & fou aXa &7 fohaem & ?

(1) T50 (2) T 100
(3) T 125 (4) T 147
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68.

69.

70.

71.

A dealer sells an article for ¥ 24 and
gains as much percent as the price of
the article, then the cost price of the
article is :

(1) %15
2) %17
(3) %18
4) %20
In a group of 15 people, 7 read
Hindi, 8 read English and 3 read

none of these language. How many
people read Hindi and English both ?

(1) o 2) 3
3) 4 4 5

If p and ¢ are rational numbers and

iiﬁ =p+CI\/§a then value of p
and g are :

(1 p—%q—%

2) p—%q—%

3) p—%q=%

4) p—%q:%

If the compound interest on a certain
sum for two years at 3% p.a. be
3 101.50, then what would be the
simple interest on the same sum for
same period ?

(1) T50
(3) T 125

(2) T 100
(4) T 147



72.

73.

74.

75.

76.

= @t &t § g & S B

A, CD, GHI 7, UVWXY

(1) LMNO

(2) MNO

(3) MNOP

(4) NOPQ

Th TGS B TH HOT 108° FAT AW
A BT IUEX 31 AN s i J
U 1 A ST HINTT ¢

(1) 63° (2) 74°

(3) 84° (4) 96°

AR, T & qiEm | B ol g
% I A B T, gET & q@ @
M B geu, Iftm & dot § g

RmaAg?
(1) ITX-qie=H
(2) T

(3) aferor-gd
(4) 3T

g DRIVER = 12, PEDESTRIAN =
20, ACCIDENT = 16, @ CAR =?

(1) 3 2) 6
(3) 8 4) 16

R v A £ W s o L L

69, 55, 26, 13,5
(1) 5 (2) 13
(3) 26 4) 55
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72.

73.

74.

75.

76.

[A]

Find the missing term of the
following letter series :

A, CD, GHIL, ?, UVWXY
(1) LMNO
(2) MNO
(3) MNOP
(4) NOPQ
One angle of a quadrilateral is 108°
and the remaining three angles are

equal. Find each of the three equal
angles :

(1) 63°
(3) 84°

(2) 74°
4) 96°

Amit is west to Prakash and North to
Sumit. Tarun is in East of Sumit.

Tarun is in which direction with

reference to Amit ?
(1) North-West
(2) South

(3) South-East
(4) North

If DRIVER = 12, PEDESTRIAN =
20, ACCIDENT = 16, then CAR =?

(1) 3 2) 6
3) 8 4) 16

Find the wrong number in the
following series :

69, 55, 26, 13,5
(1) 5 (2) 13
(3) 26 4) 55

P.T.O.



[A]

77.

78.

79.

80.

1Y 2=4=%¢ G|
1 1 1
—t—+— =4, A xFIAAE :
2x 4y 4z

7 7
1) = 2)
()16 ()17

7 7
3) = 4y —
()19 ()23
80 Tl 9T H UH ARl F¥H 60

fepHl, 40 fopeil ofer et qem 9w g 20
Reeit ofcy sfer &t iy & SoRi o1 ERgel
=T P Sl 9 R

(1) 24 fHt ufa et
(2) 30 fepet fer g
(3) 32 fereft ufer g
(4) 36 Tt ufer e
30 #f T WO ® Th R W g
$ TR 0.80 W d g MR W

2.4 W B T B TEE B SR
SEET HC TRBE H A ©

(1) 48 &
2) 728
(3) 156 11

(1) 41
(3) 48
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77.

78.

79.

80.

then the value of x is :

7 7
D T )

7 7

3) 19 “4)

In a journey of 80 kms a train covers the

first 60 kms at 40 km/hr. and the
remaining distance at 20 km/hr. The
average speed for the whole journey is :

(1) 24 km/hr.
(2) 30 km/hr.
(3) 32 km/hr.
(4) 36 km/hr.

A swimming pool, 30 m long has a
depth of water 0.80 m at one end and
2.4 m at the other end. The area of
the vertical cross-section of the pool
along the length is :

(1) 48 m’
2) 72m’
(3) 156 m’
4) 192 m’

Anil is standing at 16th position
from the left end in a row. Vikas is at
18th position from the right end.
Gopal is 11th from Anil towards the
right and 3rd from Vikas towards the
right end. How many persons are
standing in this row ?

(1) 41 (2) 42
(3) 48 (4) 49



81.

82.

83.

84.

85.

fr=fafeqd § ¥ &we (HAFED) &

TR H p- FER ?

(i) 78 PN IERN F €IE FAT ol

(i) 78 PN IRl H IO BT B

(iii) 78 F M H It B ol

7&] T H AT BT :

(1) (i) &R (i)

(2) e (i)

(3) (i) &R (i)

(4) (i), (i) S (i)

eRamm # Fe ‘FR-aw fawRea e

ST TR ?

(1) e (2) HrE

(3) FAFR (4) e

‘TR Qe Gl LHAC BRI &

P e g R ?

(1) BER (2) HE

(3) Ved® (4) ST

‘efRamn TR srmEHl’ & oty R

(1) Sfo FIE Fa@

(2) &t TR A

(3) Bfo HMH FAT

(4) =t O M

el omEw % SR § fAitha weEAl

R @R ik :

(1) aRamT & ga farh B onE
gﬂ‘cﬁqmg@mﬁwaﬂa
|

(3) a8 g= qaO1 H=d A HA A
Teell Afee 2

&l IR YA

(1) B (o1) 921 B

(2) B (9) T 2

(3) (&) ¥R (3) T ©

(4) (31) &R (39) 3 =&
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81.

82.

83.

84.

85.

[A]

Which of the following are true
about the functions of HAFED ?

(1) It procures agriculture products.
(1) It markets agriculture products.
(ii1) It supplies agriculture inputs.
Choose the correct code :

(1) (1) and (i1)

(2) only (i)

(3) (1) and (ii1)

(4) (1), (1) and (iii)

Where in Haryana 'City-forest' is
being developed ?

(1) Murthal (2) Sohna

(3) Yamunanagar (4) Hansi

'Air Shuttle Service' has been started
from which city of Haryana ?

(1) Hisar (2) Karnal

(3) Rohtak (4) Ambala

The President of 'Haryana Sahitya
Academy' is :

(1) Dr. Kumud Bansal

(2) Sh. Manohar Lal

(3) Dr. Ashok Batra

(4) Sh. Rana Oberoi

Consider the following statements

about Minty Agarwal :

(a) Minty Agarwal, a native of
Haryana, is a Squadron Leader
in Indian Air Force.

(b) She is the first woman, who
received Yudha Seva Medal.

Choose the correct answer :
(1) Statement (a) is true

(2) Statement (b) is true

(3) Both (a) and (b) are false
(4) Both (a) and (b) are true

P.T.O.



[A]

86

87.

88.

89.

90.

: AT ST AT JieX AT
(1) sitg (2) ST H
(3) gHYT § (4) FoEA |
S 2020 H, oIfoReq # W/

HI-G TRUMGH B TR IRE &
WY X HHG A 4 7

(1) T (2) TN

(3) T (4) o

1857 & fa5ie & 99T FooK H A
I o1 ?

(1) TGN @t

(2) Tard THGE

(3) HEHEA

(4) foERa o

HAMH & AU ARG B G
WM FaRYd ©

(1) oraar e #
(2) AR B |
(3) HBa Rt 8
(4) dua o &

G N § §8d aml ARdl @
RECIEEEE

(i) SfgEfd (i) e

(iii) FHEE (iv) 3=

7&7 F< H =TI BT

(1) (i) 3 (i)

(2) (i) 3 (iid)

(3) (@), (iii) 3 (iv)

@) (), (ii), (iii) 3 (iv)

[20]

86.

87.

88.

89.

90.

Ancient Bhawani Amba Mata temple
1s situated in :

(1) Jind
(3) Sonipat

(2) Ambala
(4) Kurukshetra

In January 2020, which of the
following Nagar Palika was raised to

the status of Nagar Parishad
(Municipal Council) ?

(1) Rania (2) Jhajjar

(3) Beri (4) Sirsi

Who was the Nawab of Jhajjar
during the uprising of 1857 ?

(1) Abd-ur Rahman Khan
(2) Nawab Shamsuddin
(3) Sadruddin

(4) Bisarat Ali

The original founding place of
Topara Inscription of Ashoka is
located in :

(1) Ambala district

(2) Yamunanagar district
(3) Kurukshetra district
(4) Kaithal district

Identify the rivers, which flows from
Mahendragarh district :

(i) Ambumati (i) Dohan
(i11) Kasavati (iv) Indori
Choose the correct code :
(1) () and (iii)

(2) (i1) and (iii)

(3) (1), (ii1) and (iv)

(4) (1), (i1), (iii) and (iv)
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[21] [A]
M- IV / PART = IV
YoTIsl / PUNJABI

91. fr fefggm feo @¥t &t & e 7 94. Umrst mfgwreg feg B3t @ feuw
g9 Jfeaifie At &% &t fawsT 7 A ITE AE =@ aiat § ot &t fegr
(1) W & fami 37
(2) 3= @r (1) mgrar
(3) ==t ' (2) Wt
(4) smat =r (3) F&twt

4) v

92. Ht 3@ 31 SUE9d A € HIlEt wAES
'3 fagzT ggenre mAfgs J7

-

95. A I9 aoad o< At & IJB fdatit

A == A

(1) v G g 7

(2) Fora dim (1) & 2) 73

(3) s sfos (3) ¥ 4)

(4) I38IF Ay

96. fawg wforne=t & mus 3y ‘Ut

93. “fardt feanr By nigwe arfger ‘Hait 3 uedt @ oW fes faw °w §

fa 0 '3 ufen e 37 USht 3 eIt €t uadt’ faar I ¢

(1) ot @ f36ae '3 (1) e

(2) e @ w @) wier

(3) =tv € WSt 535 A 3) S,

(@) fewmg @ wr @) v
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[A]

97. wmdte Qun fiw & faw »igdw »eng &

98.

99.

HT & Afgnt =& grar @ gesT famr?
(1) #eas 3fed

(2) vfeas Ga=feg

(3) ses

(4) Fhmesg

fdat ygg € de 957

1) g

() 3

(3) #iz

4 &

UArgt I<t EldAels Ad8 MEHd MTUHT
99 W3 F-ydle" SE Ag I ga<t
I fagst 32

(1) wr-&st
(2) wharast
(3) dmrst

(4) =rant

Level-2/8103

[22]

100. 393 & Tfgrrer Yz’ & AgusT I

101.

102.

Jet ?

(1) 15 »@m=z, 1947
(2) 15 »amz, 1857
(3) 2 =99, 1968

(4) 1 =<==39, 1966

gsfded fAw AEl € Jost ‘Thrdes’
feg vadt Adld €3 ‘Thides’ = ot
H™S™ »HAT UeT J7?

(1) =5 ma3t aHdd det T

(2) fenrar feg AT @ ¥39™ =¥ AET J
(3) wmdtg gat T AT T

(4) Ten TUds T 439 sfewr Ifder T

qt g9 Jiffe fiw &t & vas genw
NIIHY § ‘A8de™T &F ¥ U39 faw

g feg fafgmr?

(1) ¥nfez
(2) Gve
(3) ramt

(4) arst



103.

104.

105.

‘@Y €9 Ay 31 gfem 7T Ay I &
get i

giggTet &t fen A39 = 3y fagsT aig-

=t I?
(1) 3g Jifde fiw =t
(2) @ 391 gUT=d A
3)

Jg &76d &< At

“)

g wiere o=
Js 7

(1) da=t 3 ysgat
(2) T9=t 3 W3t
(3) S9g 3 va=Et

(4) st 3 Tt

SHST °@ JUTSt BY WMEHT W™ B
fagt st & 43t J9e A5 ?

(1) gea 3+
2) dt5T 3 T=F
(3) Wat 3 auT

(4) Hed 3wy

Level-2/8103
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106.

107.

108.

[A]

“In & FAEr fes It HaTS i
feg afe waat faw a=<t bt w3 faw
YAy feg @99 a5 ?

(1) wfgza  faast-1
Saydt

(2) wfe3w faaat-2 3 amils sla

"3 I BTH

(3) mfoza fagat-1 w3 3fded dg

(4) wfosa faaat-2 W3 3IA<3 T3

9T HY e HAgaiH fan HeT Huger

3% HYU3 I57

(1) Foer=get

(2) fers™

(3) femst

(4) somdet

dfenrer Y3 € Ba-an3 fan &8t feg
gre Hid 957

(1) dams=t

(2) faet

P.T.O.



[A]

109.

110.

111.

ey gus € fgu 3y U It Ue
gt fegs feg9 wigA9 Awar feg
Aotféar dan faw Hats feg Farfour
Her 37

(1) Aa<dt feg

(2) vaw few

(3) A3u9 few

(4) =v=qg feg

‘ST&t '@ fugd’ gorer @ U39 I3fa3

J?

(1) 39 g9

(2) g ¥79

(3) ufanas g9

(4) fdenss g9

‘W AET FQ Ffeursa © By
ds J?

(1) §. yas friwr

(2) i yt=w

(3) gt <9 fiw

(4) 4. vos fAw

Level-2/8103

[24]

112.

113.

114.

Afosa fagat-2’ unAsa feg wad w9
gis & gusr fevst fam afegu
feg 37

(1) €3

(2) s=s

(3) Baqitz

(4) T=t

37, Ofded AT € I9ET IB®IHT
ot . (yfgest w3 ufgee few
feges fo@dt & wdw fam = &%
Hfewr fapur T -

(1) gam

(2) dts

(3) wvdtar

4) fs@wEs

. oret. A der wr fgogr fegtqit
‘wfoza dar-2’ feg wam I7

(1) g€

(2) 89 I FAGT

(3) mgTar

(4) mdeqr



115.

116.

117.

3ffeg d9 € fay 3y dayg € &g I3’
weAd dAer Afedad € Aat 3W<19
fom Afoz-gu feg fuset T7

(1) 3= gga3t feg

(2) 3T Ha=fout feg

(3) 3a guet feg

(4) 3 aizst feg

gfdes Mw € feu 3y west feg

A<d-Ad fanad =r f3wmar adsr faast
mrfagt e fow fagor I7?

(1) gaut
(2) mratwr
(3) darst

(4) 93t

‘A’ MJIId ST AT HEE IS ¢
(1) wefEe

() me=sEt

(3) mu-fénlaes

(4) Fe-9e%
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118.

119.

120.

[A]

‘gt gt BT € Gov weiY 3| HA
7 € ughl € fae =<t Wt swe-
dg<d !
&t 1"
gafees fiw 93 & Foet ‘ganel’
few Quiazs wae fam uzg & fam

U39 § JJ7?

......... Hs 8= < d9 83

(1) Zeor & Arte &
(2) »IwsT & Al &
(3) Ig® T & nEEaET &

4) ¥l & SeoT &

JUB Hd €93, 89 2 ¢’ A39 ©
BT d J?

(1) Fawlz u3d

(2) 3o fiw I

(3) =aws fAw mme

(4) WIsH3 9

uforgs € fan fus<t & fisyr fiw
et 9T muer € =93 diSt?

(1) forgs v

(2) mEgs wige

(3) yive ferga

(4) femifes us

P.T.O.
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121. fJ<t g feg We maer @ Adt G99 125. “Rafen™ @R »ied @F 4A™9 &t AEiG |
®et gyt Ut feu fam Sge-fdg <t S
fAgr=T J9at uet :

feg afe A39r Uaet € faw <t <t
(1) @ 2) &
IIET TI&?
3) % 4) =
(1) get <9 fiwr
122. ‘AA@en I JreisA’ @ fAusEr B .
(2) 39 W IS
Jy fdg B 57
(1) 95 (3) Ztonels was
2) s (4) JIgvs I
(3) fe=t
126. Jofers fRw © fsy fegiat ‘gaaar
“) I3at feg a® fds ugg I&7?

123. 39" IgHI € fedu g9z = ufgsr OREQ
A33d3T HAd™H do & fapur? 2) T3
(1) 1947 . 3)

(2) 1847 .
4 &

(3) 1857 +t.

(4) 1858 =t. 127. A=l fesaae € gg & & af 7
(1) yav Im

124. ‘fiz fe§ =< By »gwg " fag
fadt 83t musget gatet §7? (2) By fIsa
(1) amfesa (2) wrtat (3) v faus
(3) wadifsa (4) afodt (4) AIAIH
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128.

129.

130.

37. gdsaty fw © fsg fegant ‘a<t

AY' feg g8 fd& U39 957
1) g

(2) um

(3) 9

4) 35

IHT € HU3T § UduT BE g femdt

& forar 7reT 7 -
(1) s fefaprrs
(2) ferrage
(3) wagat

(4) frAgner

3T €. Ul 7. WEEs I8 °F 9 Add
& 3T. I e uget ©F S fas ot ?

(1) fHoa3 Hagst Jad
(2) dufamt € fAsTet aoa
B)far I Qua d

(4) afge foe<t o &
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131.

132.

133.

[A]
e 393 fiw & »AEst o5 feg d9
Hfenr, @7 AH €7 € &5 de A2
(1) fiae =awr
(2) "geam=g €3
(3) @ yre
(4) IAIg
A 39 difde fiw 7t & »deyg mrfoy

o ufe3g uast '3 ysAr Uy <t AgusT
g ai3t?

(1) 1666 €. feg
(2) 1708 &t. feu
(3) 1699 &t feu

4) 1704 €. feg

fiz € Hg T UA3T €T BYd dS J 7
(1) gea™ friw e

(2) Iavy fAw yarfeq

(3) fi}. me=e fifw

(4) fumgr fiw =37

P.T.O.



[A] [28]

134. ‘fan & dAt uehyt feg &3t wfoa a&mi 137. d€7 sUwd & mafde § 399 FId
3 Gust eyt waz & &3 vt 31’ forgar emT femir?
feg afe-nzat faw da=t a<t <t I9&T (1) Ig »Ens &< A < mdtet e
IJs?
(2) =dlT ¥s & nifammarat @
(1) ¥. yas fAw
. . (3) HastT & wfgmmarat =
(2) 4. Hos fAw
(3) fa= gHT gea=t (4) & wiggafent & walet e
(4) wfET JisH
138. J& fau maet € de feg Adt muef e
L . feasy v -
135. udfon f8aas & wiftrua & U39 fou
a fan fefewsdt § fafumr €= @t (1) &, Us3, fieg, daar

foar T2
(2) 9, U3, ateg, ga3T

= [V

(1) e 89 &
(2) It &9 & (3) Ovg, Ufs3, aiwq, ga3r

(3)@?@3’8%’?3 4) QHH', 53, faeg g3

4) wshr 59 §
139. 37, ofdes dtudir @ afes Tu o
136. 13 »im, 1919 & Afew =& v feg wrey faw feif '3 deds 37

gt & fon weRE ags € feIw

3d& Bot fegdgd JT A ? (1) sg= dfamr

(2) sa3t gt

3) I®T TEE (3) T e oy

(4) " SfHES (4) Tt d& yarfenr
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[29] [A]

140. %3y fAw did < agoer ‘fea AU 143. ‘wfoga faaat-2’ yAsa feg wdd 3y
wWreHl €T WY U39 dS J7 ‘g9 ¥5 <t Iw few daw fev wee
NP s &8 Ut € MRS J9s ot I?
(1) Fer fAw
2) w95 fiw (1) mee ¥ wauz =T
3) 78 (2) uret &t eg® gaget
(4) I35 fiwr (3) a7 mGeT
(4) =fgat & we
141. daet g feg U=y wew yae
F9s BT 7 g (faws) =93 AT Is, 144. 3. g9d9n fAw T=s € 8y 3y FI39
S5t & at a1 f&3r fapur g7 fiw s wigwe ‘Iree Bfud’ HY d9s
(1) g =
udgaTer ?
(2) ®aryg
(1) sz fiw &
(3) H3ar
2) faous fAw &
(4) niug
(3) »iggw € JUI HI&T wfuadt &
142. €8 d9 fezrer & fodt aoet ‘AItut (4) g939 fiw Aeg © fiflsT &
Ael’ feg »igr ¥MorzgT fam g9 oz ar
fagr At? 145. 393 © YUaH3dl féed gHd Jaas
. - g 3T §HSt umuT e © & 3
(1) €x uA™ 99 )
(2) JHT-3¢t < gy 59 a3t aret?
(3) wdte F913 fifw =79 (1) 22 &a= (2) 52 &=
(4) WSt y@r g9 (3) 32 &3 4) 72 &=
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[A]

146.

147.

148.

fae g9 gerast & afesr & Wy
femr at g7

(1) fema @7 Ha™
(2) I HIE3 T MEHS
(3) fa+t fegs™ W3 9w

(4) dAgtm3z T Tae

- ~

3T. FEdEE IR € afesT ‘Wt 7 Tud
g I Gug &t few fam &« < =93
Jet g7

(1) afdz

(2) dazr

(3) &3

(4) 8¢ va3

wfen fret few HAailsa gont '3 o<
5% df saer Sus & fuser 97

(1) Haftz dat feg gme &ar Uer
(2) T fer §g T mreT 3

(3) mite go= war Ter 3

(4) Ja3 m<T BT T&

[30]

149.

150.

Jondt Bt few wagetr &t foest
faat T2

(1) =n

() U

3) f3s

“ &

“H WUE U § YW SHIY AHSET 9 fq
°" & wEet §, 33 feabe et
=’

un3a feg wod feg mae fam 3ua &
gz 3 I57?

el 79 Ut fogor ot -

(1) @39 fiw Aaa"
(2) &t st9 fiwr
(3) A= I Gemt

(4) A3 fiw Ay
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FOR ROUGH WORK /Y% &4 & foru




U b SR, SR Uoh § uiRd @Ml @1 Pl il 6. Answers to questions in answer sheet are to be given by
wge 9 9 AT 2, orr T S fexamar w2 darkening complete circle using Black ball point pen as

shown below :

® ® @ O @ B ®
(SRRl

3Mq gINT_faar T IR e ST, I IR AT The answer will be treated wrong, if it is marked, as given below :
A BT P TPR A R E & g

i3 o | SUET WHl $ WR T & Al TSI AR Terd If you fill more than one circle it will be treated as a wrong
HET ST | answer.

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. X% B ‘;I'S:I—gﬁfidvl H 39 waoN ® fog & TS @rell g W& BN | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bacl OMR TR T3d WR 8l 3ifdhd P | 30 IR LIHYdd 3Afhd B | IR G 2g 29d Joid (Ahe Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. UAE T & fore Ry T g Rwedt # 9 3Ifaa fawer & fow OMR STR 956 W &de Uh gd &I & T RE Blof ard

wEge U9 9 W | U6 IR SR Afhd F9 & 915 99 gl 78l ol AhdTl ¥ 1 (Out of the four alternatives for each question,
only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

el gad o {6 59 SR 45d B Hiel 9 WY Td I R BIg 3 M 7 M | 3pgedi 301 IghHld SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT Td IR TS BT SAFYED JANT By, Fifd & aRRefT # (se—gRaer wd SR v9@ & HAie 3 e
o1 Rafq &1 Breaw) E;\Hﬂ U Eﬁ?ﬁﬂ e SUALT T8l FHRATS SITgT | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

W—W/W CEC fev U HHIG BT et TE TN I sFER de H ford | (The candidates should write the

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

ameﬁaﬁqﬁmgm/amﬁmwsﬁ?mﬁqaa§aﬁrﬁaﬁﬁﬂﬁwaﬁm |Jrl, gfad A1 sRforiad BrTSl Bl
Ufedf, SR, AaIgd WF, Sdgiie UG I B 3 UBR B GEEH DI of S AT STAN HRA DI AT T8I © |
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TIed gRT I8 oM W UAd gl 30T Y%l & (I o) 3R Ugamd U= =i | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT wded B A SH‘T% P 77 DI el QAT I 7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PIRIRT YAAETH BT YOI STR UAP (U a1 v BeeR a1 WR IIART SRIER by {41 angedl uller sfe el uisi | afe
PRl ongefl 7 g AR BRMER 91 W BWER T8l by 1 I8 AF1 oMQ b I SR UAG T8l Al § AR I8
JfAd | & AT AT STYT | OMR SR U3d § FuiRa o w | anafdiat gmr 9 w19 & o &1 feme
wrrmméligwmﬁsmmwwmmmﬁwmﬁswﬁﬂﬁmmﬁammmhmaﬁ
AT T A g8d 8 g 7 8 §gd | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagih / BTalferd URded & SUANT affd 8 | (Use of Electronic/Manual Calculator is prohibited.)

e 8T § SR & oy, sngefi fGarfrer § & v uftar /Ry g ars & @ el v fafaEr o ey eam v |
g WREl & W AWl @ BEen dis & Ml Ud fafRmi & SR BN (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U DT 3R SR Y=Ib BT I W AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W w9
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)




	L2-8103-A.pdf
	B.pdf
	L2-8103-AA.pdf
	1-30_3-9_-_S2-L2_-_CDP_.pdf
	31-45_10-11_-_S2-L2_-_HIN_.pdf
	46-60_12-13_-_S2-L2_-_ENG_.pdf
	61-90_14-20_-_S2-L2_-_QA & RA_.pdf
	8103-A.pdf

	Y.pdf
	Z.pdf

